)

oF

(

At

20259 & HI1X F=IHEE0

2025. 2.

=0
<
O




SAZAAAZZOHAS X2 20258 HMAX FIOLEF 0l AH(L)

N HZE OidSEE

Al ol Al =

o - o 2025t 2025 A1 X} 2 Hl & - = = 20254 2025 A1 &} 2 bl g
- = B EEEO AHA) | FAAHB) (B-A) (%) - - B EEEO| AHA) | FHOIAB) (B-A) (%)
=7 2,371,796 | 2,418,544 46,748 2.0 Z 2,371,796 | 2,418,544 46,748 2.0
At 2ol A 78,610 78,610 = - A=l A 1,633,935 | 1,630,961 |- 2,974 |- 0.2
01) | Algigl A 7 78,610 78,610 - - (01) o1 24| A 3 1,526,737 1,523,763 |- 2,974 |- 0.2
T2 BAIAQ 2,230 2,230 - - (11) Z0{(111) 1,043,537 1,042,267 |- - 0.1
(111) H22(112) 235,488 233,784 - 0.7
H A0l AR A 49,800 49,800 - SR Z(115) 107,026 107,026 -
(112) MBIBE2E2(116) 131,686 131,686 -
N o N BN 24,400 24,400 - JIEFE M A HI(117) 9,000 9,000 -
(113) g= A 3 19,600 19,600 =
JIEFAN 22 2,180 2,180 - L] J1229H|(121) 3,600 3,600 -
(114) (12) =25 Y| (122) 12,000 12,000 - -
2x2 | A~ I 1,958,654 | 1,956,065 |- 2,589 |- 0.1 3| olHl (123) 4,000 4,000 - -
20 Hx3 A 7 1,958,654 | 1,956,065 |- 2,589 |- 0.1 29y A 3 87,598 87,598 = =
03) 20 ANSEZ2(312) 1,852,334 | 1,849,745 |- 2,589 |- 0.1 (13) 0941 (131) 7,800 7,800 - -
(31) +2H Y222(132) 27,488 27,488 - -
JIEFE X2 (314) 106,320 106,320 - - Z2932(133) 27,240 27,240 - -
HAMZD2(134) 14,910 14,910 - -
X2l (135) 5,040 5,040 - -
o1 2 H|(136) - - - -
JIEF2 2 HI(137) 5,120 5,120 - -
=22 | 2 2 80,620 78,620 |- 2,000 |- 2.5 Ak A 7 37,250 37,250 = =
20 s232 A 3 80,620 78,620 |- 2,000 |- 25| =&l Al & H| A 37,250 37,250 = =
(04) 20 NES2A2400(411) 62,620 60,620 |- 2,000 |- 3.2 (02) (21) AlEHl(211) 500 500 - -
(41) HIXRER249(412) 18,000 18,000 - - RHAFE SH] (212) 4,000 4,000 - -
AlE RIS X1l (213) 12,750 12,750 - -

IS 2 AA(214) 20,000 20,000 -

@z | A 3 25,000 25,000 = - Al A 548,111 552,856 4,745 0.9
(06) o2 A A 25,000 25,000 - - (03) =X 2 A 3 405, 191 413,136 7,945 2.0
(61) glol@el=2(611) 25,000 25,000 - - A b HENEF EEICID 6,000 6,000 -
golmelZ(s22) - - - - (31) =T(XI2)HALE(312) 6,000 6,000 - -

(612) e ==X 2 (313) 27,920 27,920 - -
X X2 (314) 10,250 10,250 - -

JbE (KR XI2(315) 3,830 3,830 - -

A ZRIL AU Z25(316) 1,755 1,755 - -




1) N A= oaS2E

Al el Al =
o = = 20254 202514t E=Eh GIE=; - = = 20254 2025 A1 %t = g
- - B EFEO|AHA) | FAHAKB) (B-A) (%) - - B EFEO|AHA) | FHOA(B) (B-A) (%)

=7 2,371,796 | 2,418,544 46,748 2.0 =7 2,371,796 | 2,418,544 46,748 2.0

NEG A 225,112 276,449 51,337 22.8 X AFSI S A K2 A HIA(317) 34,930 36,130 1,200 3.4

(07) olg= A 225,112 276,449 51,337 22.8 JIEEBY2A X A (318) 67,100 71,060 3,960 5.9

(71) HEACOIR2(711) 104,500 163,819 59,319 56.8 NS E2XIA(319) 37,160 37,160 - -
HECOIE25A2(712) 27,266 21,158 |- 6,108 |- 22.4 Al 2 AR (31A) 55,600 55,600 - -
HEACOIR22X2(713) 93,316 91,455 |- 1,861 |- 2.0 8 A HIH A AL (318) 154,646 157,431 2,785 1.8

SIEL= == 30 17 |- 13- 43.3
QAEXA2(714) BENE A 142,920 139,720 |- 3,200 |- 2.2

&0l A 3,800 3,800 = - Al | FREHLT20/A(321) 80,220 80,220 - -

(08) I 20l A 7 3,800 3,800 - - (32) NP3 1S(322) 15,900 15,900 - -

(81) E2Z0§2H(811) 520 520 - - Stal &2 [ X2 A (325) 5,000 5,000 - -
JIEFOI 20l KH4 2 (812) 160 160 - - 0] 2 = AFEHXI 2 AL (326) 6,000 8,000 - -
JIEFE 201(813) 3,120 3,120 - - SNSRI A (32A) 5,000 5,000 - -
KDBAHR! 2 8 X| 2 A} 2! (328) 6,000 - |- 6,000 |- 100.0

2H T AIZ2AHY (320) 21,800 21,800 - -

S OAXHS XX A (32D) 3,000 3,000 - -

S AFE 2| 3 XI 2 AL (32E) - 2,800 2,800 100.0

JEcHE | QES A 1,000 1,000 - -

04) XS (41) DE X = (411) 1,000 1,000 - -

IS FIONES A 500 500 = =

(06) (61) X Z(611) 500 500 - -

ol 51 bl oll bl bl A 151,000 195,977 44,977 29.8

L JIEF | ¥ DIE oIl (711) 57,684 104,522 46,838 81.2

(07) (71) BHEH2 (712) 93,316 91,455 |- 1,861 |- 2.0




